/* Please note that these answers are not unique */

/*1*/

Select S_Name

from Student

where S_City='Seattle'

-- -- (S_Name( (S_City=’Seattle’(Student))

/*2*/

select s.S_SSN,s.S_Name,AVG(e.Grade)as GPA

from Student s,Enrollment e

where s.S_SSN=e.S_SSN 

group by s.S_SSN,s.S_Name

/*3*/

select S_City,AVG(S_Age) as avAge

from Student

group by S_City

/*4*/

select S.S_Name

from Student S,Course C1,Course C2,Offering O1,Offering O2,Enrollment e1,Enrollment e2

where O1.CourseNo=C1.CourseNo and O2.CourseNo=C2.CourseNo


and C1.Title='Compilers' and C2.Title='Databases'


and O1.CallNo=e1.CallNo and O2.CallNo=e2.CallNo and e1.S_SSN=e2.S_SSN and e1.S_SSN=S.S_SSN

----(s_Name(Student JOINS_SSN (((Title=’Compilers’( Course)) JOINCourseNo Offering JOINCallNo Enrollment JOINS_SSN(((Title=’Databases’( Course)) JOINCallNo Enrollement JOINCourseNo Offering)

/*5*/

select c.CourseNo,c.Title

from Course c,Student s,Enrollment e,Offering o

where s.S_SSN=e.S_SSN and e.CallNo=o.CallNo and c.CourseNo=o.CourseNo and s.S_Age>=21

group by c.Title,c.CourseNo

having count(*)>1

/*6*/

select S_Name

from Student s

where NOT EXISTS


(select c.CourseNo


 from Course c,Department d



where c.Did=d.Did and d.D_Name='InformationSc' and c.CourseNo not in



(select o.CourseNo



from Offering o,Enrollment e



where e.S_SSN=s.S_SSN and o.CallNo=e.CallNo))

/*7*/

select f.F_Name  

from Faculty f,Offering o

where f.F_SSN=o.F_SSN and f.F_SSN not in

(select d.F_SSN 

  from Department d)

  group by f.F_Name,f.F_SSN 

  having count(*)>1

/*8*/

          select count(distinct d.Did)

          from Course c,Offering o, Department d


where c.Did=d.Did and c.CourseNo=o.CourseNo and (o.CallNo in

 

(select e.CallNo



from Enrollment e



group by e.CallNo



having count(*)<=5) 


or o.CallNo not in 




(select CallNo




from Enrollment))


  and d.Did in(



select c.Did



from Course c



group by c.Did



having count (*)>2)

/*9*/

select distinct f.* ,o.CallNo

from Faculty f, Enrollment e,Offering o

where f.F_SSN=o.F_SSN and o.CallNo=e.CallNo 

and not Exists (select e.CallNo


      from Offering o1, Enrollment e1


      where o1.F_SSN=f.F_SSN and e1.CallNo=o.CallNo


      group by e1.CallNo


      having count(distinct e1.S_SSN)<3)

